Chapter 2 Review
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1. Make a conjecture about the next item 8. Write the statement in if-then form?
in the sequence. ~« JJ- Cl;’;;-&“h% Octagons have 8 sides. O to
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Q 5 p 3 : 9. Given the statement, “If you live in
2. Make a conjecture about the next item Chicago, then you live in lllinois,”
in the 2 (M 2 _/0 which of the following is true?
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3. Determine whether the conjecture is
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true or false. Given: /1 and £2 are 10. Write the inverse of the statement: If a
complementary angles. Conjecture: trapezoid has congruent legs, then it is
mZ1=mz2=145. Isosceles.
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4. Determine whether the conjecture is ~e 7L TQ:)SCE es.,
true or false. Given: ALMIN has two
M congruent sides. Use the following diagram for 11-15:
/ Conjecture: LM = MN
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5. Find the next two terms in the A. Q

sequence: 1024, —256, 64, —16, ....{L/7 -/ »
divide previous — F
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6. Identify the hypothesiwﬂ conclusion. '
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If 4x -3 =29, then x = 8. E—— ‘
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7. Write the statement in if-then form?
Smoking makes you less fit.

If you J:Mﬂﬁf , Flagan you wil)
be less £



11. Which option states the postulate that A. Through any two points on the same

can be used to show that A and F are line, there is exactly one plane.
collinear? B. Through any three points not on ttﬁ
A Through any two points, the:e—ﬂ same line, there is exactly one plane.
Pog{"- Q’i exactly one line. LA A C. If two points lie in a plane, then the

B. A line contains only two points. Vﬂi £ entire line containing those points lies
C. If two points lie in a plane, then the in that plane.

entire line containing those points lies D. If two lines intersect, then their

in that plane. intersection lies in exactly one plane.
D. Through any two points, there are

many lines.

15. Which option states the postulate that

can be used to show that AR lies in

12. Which option states the postulate that plane Q?
can be used to show that D, C, and E A. Through two points, there is exactly
are collinear? one line in a plane.
P 6} Q'Z ,,/97@_-_!\ line contains at least two poinﬁ:_l B. Any plane contains an infinite
! B. A line contains only two points. number of lines.
C. Aline contains at least three points. C. Through any two points on the same
D. A line contains only three points. line, there is exactly one plane.

D. If two points lie in a plane, then the
.| entire line containing those points lies
13. Which option states the postulate that in that plane.
. 05}' 2 £ in that plane
can be used to show that AD P e

intersects EC at point D?
A. The intersection point of two lines
lies on a third line, not in the same

plane. 16. Justify the statement with a property
B. If two lines intersect, then their of equality or a property of
intersection point lies in the same COE’UGr_IfE- -
plane. If AB = CD{ then CD = AB.
C. The intersection of two lines does 5/’”’""'(#’1 Prep
not lie in the same plane. é—r'f a=b, hen L=c )
_ | D- Iftwo lines intersect, then theﬂ 17. Justify the statement with a property
PaS'l" 2[7 intersection is exactly one point. of equality or a property of
congruence.
If ZLMN = £XYZ, and £XYZ = £TUV,
14. Which option states the postulate that 'EE‘EALMN =/TUV.
can be used to show that 4, B, and C ] 'z .y"\Si'/‘[‘ ve Pfo/) .

are coplanar? T
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18. State a conclusion that can be drawn
from the statements given using the
property indicated.

T is the midpoint of MV.
\1 Def. of midpoint/Midpoint Theorem.

MT =TV
o
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19. Given U is between S and V, write a true
statement. PR—e
S w v

StV =SV
by the sgg. add. Po@% :

20. Justify the staternent with a property
of equality or a property of
congruence,
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21. Find the measure of 23 using the
congruent supplements theorem, given
22 and 24 and £4 and £5 are
supplementary, and mz4 = 105.
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22. Name the definition, postulate, or
theorem used to justify the following:
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24. Name the definition, postulate, or
theorem used to justify the following:
Given £LMN = £XYZ,

Then mzLMN = mzXYZ.

b)’ Dﬁ[}nh’vbm O'F = angles

25. Find the measure of £8.

ms6 =2x — 21
ms7 =3x — 34

5 m Ledw L"T=180 (Suﬂ” f"vm)
7 2%-2) %) =120
8
5x—557—/g0
Sx =255
I
X=47
mle=2(47)-2) =73
L7 =247 )~ 24=167
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23.

“=c5 Nortizal fo Theorem

Theorem 2.10 states that all right angles
are _ (on gmemL (=D,







